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\%he term *Computer’ is derived from
” (A) Latin

(B) German (C) French
HIAR e Frepretr an R

(A) e (B) Wi

(D) Arabic

(€) % (D) 3w

< Who is the inventor of “Difference Engine” ? http://www.a2zsubjects.com

(A) Allen Tumning “(B) Charles Babbage (C) Simur Cray (D) Augusta
“Re T s awd e R

(A) AR (B) IE™E () wEWH,

\3./<_Vh0 is the father of Computer ?
“ (A) Edward Robert (B) Charles Babbage (C) Mark

N XA F TR DS ?

(D) 3uTE

(D) None of these

(A) TEEuE ® T™EEy  (C) Wh (D) THAHE
4.,/ The first computer was programmed using
¢ (A) Assembly language (B) Machine language
(C) Source code (D). Object code
(A) sy (B) Wit (0 @Sk (D) sowas
5. What type of resource is most likely to be a shared common resource in a computer
A_ network ? :
(A) Pr?nters (B) Speakers (C) Floppy Disk (D) Keyboard
1T Fg Az § vl sifres amrr Aen damee F sy F @ e ¢
() B ®) wed ©) wfiftm (D) H-aE

6. Whatisalightpen? http://www.alzsubjects.com
(A) Mechanical input device

(B) Optical input device
(C) Electronic input device

(D) Optical output device
f(A) ﬂaﬁwwf&aﬁa B aﬁﬁ%ﬂﬁg&%&@ -
. % e fearg (D) ITRwA Y feamg-

'hich device is required for Internet Connection ?

(A) Joystick (B} Modem (C) CD Drive (D) NIC Card
(A) vam few (B) nigH .
() chgE (D) w3 B




I

8’/\ CD-ROM stands for

(A) Compactable Read Only Memory (B) Compact Data Read Only Memory
(C) Compactable Disk Read Only Memory (D) Compact Disk Read Only Memory
CD-ROM %190 7 &

(A) wiREw e s B) widw e i A Wb

(€) wtwee dras i el ih (D) =R 9w fig 3iaet Aad

9, VGAis http://www.alzsubjects.com

$< (A) Video Graphics Array - (B) Visual Graphics Array

(C) Volatile Graphics Array (D) Video Graphics Adapter

VGA R

(A) SRAmirmR (B) favgm mivea @

(C) Sierset Mt @ (D) e mib g

1, IBM 1401 s
"\ (A) First generation computer (B) Second generation computer

(C) Third generation computer (D) Fourth generation computer
. 1401 2

(A) vmdfFar B) fvddeggme) R (D) IR
11+~ WAN stands for

(A) Wap Area Network (B} Wide Area Network
(C) Wide Array Net (D) Wireless Area Network
FHIGUAW R Q
(A) i Aesd (B) args uftar Feadh —
(C) TSV (D) =raterd qar Ak
12.  Which of the following is a part of the CPU 7 http:/fwww.aZzsubjects.com
X (A) Printer (B) Keyboard (C) Mouse (D) ALU

Fraferfaa § @ # a . Rg, w1 T e R 7
@) B’ (B) #H-aK (C) W (D) T3,

\/Lz/A computer cannot ‘boot’ if it does not have the | |

, (A) compiler (B) loader (C) operating system (D) assembler
3 7g T8 2 Y we Pl g T R awal @ ) |
(A) ¥WEER ;  (B) W (€ FEmfmm (D) @R
4. Which programing languages are classified as low level languages ?
q{ (A) BASIC, COBOL, FORTRAN (B) PROLOG
€ ‘C,C++ (D) Assembly Language
fa sty st ) e T Y wraradl 3 v o arfiga R R 2
(A s, Frite, Brgfr— (B) SEm
© @, W+ ﬁ (D) Ilvareft vy
Al20 — 3 ‘ P.T.0.
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15,/ Which of the

following is a storage device ?

(A) Tape (B) Hard disk () i -
| ~ Ha Floppy disk Y~ All of these
Frefefe i 9 1 HT T WS JuHr R 7 o
(f) L (B) = fee= © wrfifss (D) Ioft -
&/BGD is  http://www.alzsubjects.com
\ E:é; gmary Codf:d Decimal (B) Bit Coded Decimali
) Binary Coded Digit (D) Bit Coded Digit
A b )
(A) =T FIge Sefiver . (B) HeFite dgm
©) M“‘ﬁé@ ghfiz D) e IR
Mef component of first generation computer was
"~ (A) Transistors (B) Vacuum Tubes (C) IC (D) None of these
TEeht Y % Fryer w1 e e v ‘
(A) T ®) ¥FE@ET , (O InG. (D) T @ 55 7E
18. FORTRAN is
A (A) File Translation ‘ (B) Format Translation
{(C) Formula Translation (D) Floppy Translation
BRI &

(A) FEEIIEENE  (B) WHRIEORM  (C) WhfngEewd (D) v giEeiem

The computer size was very large in  htip://www.alzsubjects.com

lg- . .
\/(é\l; First generation (B} Second generation

20.

(C) Third generation (D) Fourth generation
et &1 3HR fhad qga g AT 7
(A) qa?-ﬁtﬁ%’ff (B) @l digt (© e (D) eft i

Which of the following devices can be used to directly image printed text ?

(A)  OCR (B) OMR (C) MICR (D) Allofthe above
freferRaa & @ fr gfn = s = gfga ofy deue & foe frramn 2 7 |

(A) 3.am B) IFTWI, () WIKHIN. (D) INw@R

21. The output quality of a printer is measured by

{(A) Dotperinch - (B) Dotpersq.inch
' Dots printed per unit time (D) All of the above
Rizt 6 Iraege R AT S R .
L (a) TR, ®) Sesiwi
L (€) SmRaigirwE (D) ST @i

N g . 4




2 Who designed the first electronics computer — ENIAC ?

(A) VAN Neumann (B) Joseph M. Jacquard
(C) ). Presper Eckert & John W. Mauchly (D) All of the above

qEeN Foaied Hrget ENIAC fpem s 7
(A) = ®) s, Inad
(C) . VTR THE T geey, Hwetl . (D) IWrh ft

23, Who invented the high level language ‘C’ ? http://www.a2zsubjects.com
(A) Dennis M. Ritchie (B) Niklaus Wirth
< (C) Seymaur Papert (D) Donald Kunth
7 I T T C o AT feeee fapa

A) WPaw. bht @) Pewwre (© dERdw (D) SFEFY

5}{ A computer program that converts an entire program into machine language is called

(A) Interpreter (B) Simulator (C) Compiler (D) Commander
& FRE N S QS ) w9 sy 7 ofaffa stan 8, weamm @
(A) =B B) fmE (C) FHHTEH (D) FAS

. 25.  Which of the following are input devices ?

2 (A) Keyboard (B) Mouse (C) Card reader (D) Any of these
fraferRaa § 4 @i ot 3ge fearga @ 2

- (A) H-aE (B) #=E ) wE frex (D) 3 A =iEoft

wich of the following is also known as brain of computer ?
. (A) ControlUnit (B) CPU (C) ALU (D) Monitor

- gl B F R WA B 7

A) TR (@) AL © TTE, (D) WS
. RAM stands for http://ww w.a2zsubjects.com
- (A) Random Origin Money (B) Random Only Memory o
(C) Read Only Memory (D) Random Access Memory “-:, .
WHRQ@ IR v
(A) tvey e A (B) vn aifeh Aedt
(€) e Hiel qur (D) Yusw wFg A ;
\}%m =7
. (A) 8bits (B) 4 bits (C) 2bits (D) 9 bits

| AR W ]

(A) 8ézw B) 4diE (C) 2@ (D) 9H

A-120 5 P.T.0.



29" SMPS stands for

(A) Switched Mode Power Supply (B) Start Mode Power Supply
(C) Store Mode Power Supply (D) Single Mode Power Supply
SMPS I a8
(A) s gy wwE (B) W W It s
(C) WIHIE IR TR (D) et wire qreR TS
30. jgdwice used to carry digital data on analogue lines is called as

7 (A) Modem (B) Multiplexer (C) Modulator (D) De-modulator
e e T R 321 ) o 3 R S o ST A I 6 S
(A) DR, ' B) WERR (C) diE D) g

VDU is also called Bttp://www.aZzsubjects.com

(A) Screen (B) Monitor (C) Both(A)&(B) (D) Printer
VDU ! 98 ¥t a1 2 -
(A) BEF (B) wFR © @ st @)t (D) Bt
2. BIOS stands for
(A) Basic Input Output System (B) Binary Input Qutput System
(C) Basic Input Off System (D) All of the above
BIOS 1 7aeid &
(A) =firs 3qE rSeye Ren (B) I FYE IS e
(C) diftrs e e Rreen | (D) T g+t
\Mn area of a computer that temporarily holds data waiting to be processed is
(A) CrU (B) Memory (Cy Storage (D) File
O TR 1 O 8 9 STl w9 @ warfa B 6 wellan § 2o @ g
A) g, (B) B € = (D) W
W an example of htip://www.aZzsubjects.com
(A) Secondary memory (B) Primary memory
(C) Main memory (D) Both (A) & (B)
W THHT TF IV &
(A). Gl Al B) gl aeil
©) = @) (A) 3 B)TH
5. Magnetic Disk is an example of
~. (A) Secondary memory (B) Primary memory
(C) Main memory (D) Both (A) & (B)
Afew R g o S B
(A) vt B) g Al

- © & © @M@ P




http://www.alzsubjects.com

o,  Which one of the following is not a computer language ?

(A) MS-Excel (B) BASIC 1y C
A) WA B) Wew ©) waw

33 Which of the following does not store data permanently ?

(A) ROM (B) RAM C) Floppy Disk
ﬁﬂ%@ﬁﬁ%ﬁw%mﬁwwéﬁmw&%%ﬂgw .
(A) T ®) W (C) v e

(s

Which of the following is the smallest storage ?

(A) Megabyte (B) Gigabyte C) Terab

S N S v G (C) Terabyte

(A) A (B) T (C) e
g  G& T8 —

39, A modem is connected to

- (A) atelephoneline (B) akeyboard
T WiH 3T R
(A) THHARTTFE(B) THH-AE

(C) aprinter

©) uwRiza

worm (B) trojan horse (C) virus

D<ﬂ. A program that performs a useful task while simultaneously allowing
| (A)

(D} C++

(D) #H++

(D) Hard Disk

(D) TEfe=

(D) None of these

(D) FHAHE

(D) amonitor

(D) THHEBRE

destructive acts is a
(D) macro virus

wm@mmmwammmmm@mm%

(A) = (B) N

(©) T

(D) REEE

“To prevent the loss of data during power failure use a(n) - http://www.a2zsubjects.com

<@

(C) Firewall (D) UPS
mam%weﬂ%wmﬁ%mwm%

Encryption program

() reEdTE  (B) FHEES (C) EE
2. CRT is a form of .
O& (A) Keyboard (B) Mouse (C) Monitor
A A E T EH T8
~ (B) WISE (C) TR
fack-ball is a
(A) Inputdevice  (B) Outputdevice (C) Program
st | |
(A, PRI ®) FEeggts (O YW

A120 | 7

(B) Surge protector

©® 3fiww

(D) Mothe shoard

(D) TEaE -

(D) None

(D) v TE

P.T.O.




m  are coming under t}
. : computer (B)g u&ainfrg:j lzg;!}t;f;
(Y Portable computer ' :

A%*M:W' foa ol (D;ﬁ?zﬁdcompu!er
(A) IgE“E“Wéf B) AT (C) e e (D) w3 g

45. —~——__ Computer is a medium sized computer.

r &) Micro (B) Mainframe (C) Super (D) Mini
_ U HEQH STTHTL 1 Hraper § | ‘
(A) ¥EH (B) ¥y © gn (D)

46. Touch-screenis http://www.a2zsubjects.com

(A) Inputdevice (B) Output device  (C) Both (A) & (B) (D) None of these
e

() FgEfeEma () IFRRIE (©) A)aB)F (D) wHARE

47. printer 15 the cheapest in term of price & operating cost.
. (A) Inkjet (B) Laser (C) Thermal (D) Dat matrix
ﬁa#ﬂwaaﬁrtrhamm%fémwﬁm% i
A) FHiE, (B) T (O udm (D) seilw
48, Which of the following is a network topolag}f ?
(A) LAN (B) WAN " (C) MAN (D) BUS ‘
T Y B W eah Qe ® 7 '
(A) LAN (89) B) | (€ @) =
49, <The first web browser is ,
ﬁ:{:} Mosaic (B) Netscape (C) Internet Explorer (D) Collabra
TR S HIHW 3
(A) A (B) AeEhy €) R (D) Hremm
tn:/fwww.a2zsubiects.com
0., Junk e-mail is also called PUIP¥/WWw-a2zsubjects -
- (A) Spam (B) Spoof (C) Sniffer script (D) Spool
S
W% §-Te ¥ Fed 8
(A) =W B) F , © Fwmfere- (D) ww
) # | A DVD is an example of a i _
(A) Hard disk (B) Optical disk ,~
(C) Output device (D)  Solid state storage device
@& DVD UF &V 3 |
A) TR (B) it fowsh |

(© nFege feamw D) vk ézaﬁh%amq
- s




52 he » .
//T/pmc:ss of tltansfemng files from a computer on the internct to your computer is called
(A) Downloading

. (B) Uploading (C) FTP (D) JPEG
mmwﬁwﬁiﬁ AT X T EHTaRa F 6 whFa 2
(A) ST (B) Fuelfen (C) A, (D) =414

53. is the process of dividing the disk into tracks and sectors.
(A) Tracking (B) Forr_natting (C) Crashing (D) Alloting
o = 39 3R A o fanfom w0 Hwfrm @)
(A) fEm (B) W& (C) HRm (D) wmafea
54, When a computer is switched on, the booting process performs
(A) Integrity test (B) Power on self test
(C) Correct functioning test (D) Reliability test
T T ST BT R, A ¢ O Y wTmn aeE gt @
(A) TERATR (B) TR H ¥eh 3 7
(C) TRFTAMR (D) Temfaehdt ew
55.  Which of the following does not store data permanently ? http://www.a2zsubjects.com
(A) ROM (B) RAM (C) Floppy Disk (D) Hard Disk
P ferfan 3 & 2 To1 o e w9 & Wi T e 7
(A) W B) W © wifem (D) W
ici ftware is known as
?3. Kz;hc;;:; 'jzr cwal' (B) Malware (C) Maliciousware (D) Illlegalware

gﬂm@;ﬁqzamﬁsmﬁmm%
(A) i Eiwam  (B) AT ©) Iefdrgasm (D) TiTTErEm

57. What is the name of an application program that gathers user information and sends it to

someone through the internet ?

i (B)—Spybot (C) Logic bomb (D) Security patch
g%mmmﬁﬁmﬁmmm% 3R TR F e A
fpch A AT R ? ]

(A) T (B) wIEEIE ©) whmmaiE (D) T
. . . led http://wW w.a2zsubjects.com
h/ssﬂ::mbmc bOt(t;lr)ncaIs)T;It;gl e caunn?(gl)m}i:b;d (D) All of the above
@ P a3 e ATl e B & i "
(A) TR ) fesfieat (C) Twis (D) I9UH
g P.T.O.
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39, Physical structure of computer js called

(A) @ (B) hardware

Wﬁ%mﬂﬁmw% (€)  firmware (D) All of these
(A) ®) Fedm (C) wHax @) I

60. Which of the following is available in the form of a PC now ?

(A) Mainframe (B) Micro comp ) Mini
Micro computer (C) Mini computer (D) Both B) & (C)

ﬁmﬁﬁaﬁﬂﬁqmﬁm%wﬁm% ?
(&) B) WEHR-FER () fRwgE (D) FW@TE)
61. Convert binary 010101 to octal http://www.a2zsubjects.com
(A) 254 B) 54 © 214 (D) 15,
FEHT 010101 Y R § w2
(A) 25 ®) 5 (€) 214 (D) 154
62. The decimal equivalent of binary 1010000 is
(A) 96, B) 80, €) 78, D) 84,
|FE 1010000 ST F FT=T 8
(A) 96, (B) 80, ©) 78y, (D) 84y
63. The universal gate is http://www.a2zsubjects.com
(A) NAND gate (B) OR gate (C) AND gate (D) None of these
IPada e
() Az (B) 3k (C) wWsie (D) A HE
64. The inverteris
(A) NOT gate (B) OR gate (C) AND gate (D) None of these
TR R
(A) RN (B) 3 ©) Wik (D) B
65. The server on the internet is also known as .
(A) Hub (B) Host (C) Gateway (D) Repeater
3T W HR TF A H & TFT I 2
A & (B) wE ©) @ D) foftex
66. A user can get files from another computer on the internet by using
(A) HTTP (B) TELNET  (O) UTP ©) FTP
T AT $EAE T ITANT Tk A FHEL § HIESH STH R Hhall &
(A) “HTTP (B) e (©) ¥dt D) Twd
10

A920



67. The communication protocol used by internet is

(A) HTTP (B)  www T
(C) TCP/AP TP
wﬁzmmﬁn%mmﬁmwshaﬁa% ) o

(A) WHAG (B) ssqs=qexy (C) A#fidi/amd® (D) usAdr

68. The first network that p!anted the seeds of internet was  http://www.a2zsubjects.com
(A) ARPANET (B) NSF net (C) Vnet (D) Both
. (A) & (B)
TEEN Aeadh foEA g2t ht e
(A) iR (B) WWTFR (C) #t¥%k (D) (A) 3t (B)2H
69 e first page that you normally view at a website is
(A) home page _ (B) master page
(C) first page (D) None of these
JuaTse W @ 33 aren wom O @
(A) BWI B) WX ¥ () TEY (D) 3 AP
70. Website is a collection of
(A) HTML documents (B) Graphic files
(C) Audio‘& \gdeo files (D) All of these
ATEIFE TF TIE
(A) T3 U T g (B) i wigew
(€) FTea-dEt wgew O) Iwfi
71. The network where all the nodes are around a central server is a
- (A) BusNetwork (B) SfarNetwork (C) RingNetwork (D) None of these
eash i @it g T Hf T H IH-TE € €, T B
(A) W@ B) ®REh  (C) fde (D) Y P T
72.—A host on the internet finds another host by its http://www.a2zsubjects.com
(A) Postal Address (B) 1P Address
(C) Electronic Address (D) None
T T T TR T R B P Ggan @ 7
(A) dreE H @) WA WE (O WA (D) I3 T
73. IRC stands for —
, (A) Internet Resource Channel (B) Internet Rauting Channel
| (C) Internet Right Council (D) Internet Relay Chat
. sl FHaea '
\(m AR (B) ToRERNE () WO TRHRE (D) Feok fd ¥

120 1 P.T.O.



T4 What is Usenet ?
* (A) Itisa provider of news
(B) Itisalow cost dial up network

(C) Itis used to forward jobs & files through several hosts
(D) None of these

TR 7

(A) ¥ Twram &1 wern 2 | |

(B) & %N A0 w1 wraw o Yead 2 |

(©) w1 i % g g Aesft st el ) o a3 forg o s d |
() g %ﬁ@fiﬁ‘é?ﬁ http://www.a2zsubjects.com

E-mail address is made up of

(A) Single Part (B) Two Parts (C) Three Parts (D) Four Parts

-3t o =7 By 2 |

(A) THum (B) & wmi (© o wmit (D) =R it
76. SMTF sds for

(4 Short Mail Transmission Protocol
(B) Small Mail Transmission Protocol

A web page is located using a

(A) Universal Record Linking (B}  Uniform Resource Locator
(C) Universal Record Locator (D)  Uniformly Reachable Links
T A U ! P o0 sl e g e
(A) FRade faid fifim (B) o frd Wiy
© gfiat e e (D) el frdwer e
78. TCP/IP mainly used for http://www.aZzsubjects.com
(A) File Transfer  (B) E-mail (C) Remote login (D) All of the above
ddtd / 3. & & gy w2
(A) FEATHR  (B) I-¥a © feesfa 3 @l

A-120 12




o i s e

oo

o

B stands for
United Scrial Bus (B) Universal Scrial By Pass

D) - Universal Serial Bus

79, [ A
1@
(C) Universal System Bus
g TF ot 1 e &

() Fhrada e T
80. Which protocol is used for browsing website 7 httpi/iwww.a2zsubjects.com
(A) TCP (B) HTTP (C) FTP (D) TETP
frr ST 1 WA daETge W A w # R S g 7
(a) . B) w@WHADR. (€) ThAML (D) dusdd.
81. Which of the following tag is used to mark a beginning of paragraph ?
(A) <TD> (B) <br> (C) <p~ (D) <TR>
e A w2 w1 e o i yea & fre R smar g ¢
(A) <TD> (B) <br> © <p> (D) <TR>
#
§2. Web-pages start with which of the following tag ?
(A) <Body> (B) <Title> (C) <HTML> (D) <Form>
AT e Mg AW AT R BT ?
(A) <Body> (B) <Title> (C) <HTMNL> (D) <Form>
83. The BODY tag is usually used after '
(A) HTML tag (B) EMtag | (C) Titletag (D) Head tag
a7 3 a7 S amd: e Ag EaT R 7
(A) HTML tag (B) EM lag (C) Title tag (D) Head tag

84. What does the <br> tag“ add to your webpage 7 http://www.a2zsubjects.com
(A) Long break (B) Paragraphbreak (C) Line break (D) None

Fg 99 <br}%ﬂwm% ?
(A) T (B) I (C) wEH (D) ETE

85. The tag used for creating hyper text and hypermedia link is

(A) <HR> (B) <BR> (C) <PRE> (D) <A>
s ez @ R it fii ) w3 fore e 2 T s ok e @
(A) <HR> (B) <BR>~ (C) <PRE> (D) <A>

13 " PTO.

A-120



86. <1isa

(A) Comment tag (B) Underlined tag
(C)  Underlined with [talic tag (D) None
< TH P
(A) F= (B) 3STETEA &M
(C) =TT T v (D) g 7E
87. Choose the correct HTML tag for the largest heading : http://www.a2zsubjects.com
(A) <hl> (B) <h2> (C) <h3> (D) <h6>
3 e & form gt HTML 2t 5P
(A) <h1>}_: (B) <h2> (C) <h3> (D) <h6>

88. What kind of list will <01> tags Create ?
(A) Numbered list (B) Bulleted list (C) Unorderedlist (D) None
<01> 27 & g1 Th wom Y fore i 2 2

(A) Wﬁﬁi@ B) R () W-awdefw D) HEH

89. Which of the following describes e-commerce ?

(A) Doing business éiectronically (B) Doing business
(C) Sale of goods (D) All of the above
= 4 @ S a1 e-+ind =i sfrfRa s@ar 2 2
(A) FARITRe Sog g (B) wfSg &
(C) THM A= (D) IRw@ft
90. Which of the following is part of the four main types of e-commerce ?
(A) B2B (B) B2C (C) C2B (D) All of the above
Fraddshme-srd S @i dus - |
(A) B2B (B) B2C (C) C2B (D) 370 aft
91. Which segment do e-Bay, Amazon.com belong 7 http:/www.a2zsubjects.com
(A) B2Bs (B) B2Cs (C) C2Bs (D). C2Cs
Frefofaa dmiz $-3, siem =i 4 gafta g
(A) B2Bs (B) B2Cs (C) C2Bs (D)~ C2Cs
92. How many layer does OS] reference model has ?
A) 4 B) S (€) 6 (D) 7
OSI ¥5t1 wiewt fwrt uef w@ar 2 7
(A) 4 ®) 5, € 6 @) 7

A-120 14



93,

94,

95.

96.

97.

98.

100,

What is the usc of Bridge in Network ?

(é) To connect LANs (B) To separate LANs
(C) To control network speed (D) All of the above
Tad i i FRTITEm R 7 ' IR
(A) LAN i S (B) LAN &} el &
(C) Aeas nifa &I fafya s (D) IWwaft ~

http://www.aZzsubjects.com
Which of the following represents the fastest data transmission speed ?

(A) Gbps (B) Kbl?s (C) Bps (D) Bandwidth
frerfRea § @ 919 o=@ O 3 grafne =y st 7
(A) Gbps (B) Kbps (C) Bps (D) a= sy
Which type of network would use phone-lines ?
(A) Wireless (B) WAN (C) LAN (D) WWAN
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Which of the following is not a network device ?
(A) Router (B) Modem (C) Bridge (D) Switch
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Ethernet uses

(A) Meshtopology (B) Ringtopology (C) Bustopology (D) Allofthese
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A device operating at the physicél layer is called a http://www.,a2zsubjects.com

(A) Bridge (B) Router (C) Repeater (D) All of the above
s fearsa 9 fefee oiat W 1 2
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Which of the following is the fastest communication channel ? 1o
(A) Micro-wave (B) Optical fiber (C) Radio wave (D) None
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(A) WIEHE (B) FdHetwEa (C) iEarsm (D) Y T
HUB is associated with network.

(A) Bus (B) Star (C) Ring (D) Mesh
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